

Solve by balancing.

$$3b - 24 = 12$$

$$3b = \underline{\hspace{2cm}}$$

$$b = \underline{\hspace{2cm}}$$

Solve by balancing.

$$5z + g = 41$$

$$5z = \underline{\hspace{2cm}}$$

$$z = \underline{\hspace{2cm}}$$

Solve by balancing.

$$3c - b = 2c$$

$$3c = \underline{\hspace{2cm}}$$

$$c = \underline{\hspace{2cm}}$$

Solve by balancing.

$$4e + 2c = 3z$$

$$2c = \underline{\hspace{2cm}}$$

$$e = \underline{\hspace{2cm}}$$

Solve by balancing.

$$6d - 3z = g$$

$$-3z = \underline{\hspace{2cm}}$$

$$z = \underline{\hspace{2cm}}$$

Solve by backtracking

$$6d = 42$$

→

←

$$d = \underline{\hspace{2cm}}$$

Solve by backtracking

$$3p = 2h$$

→

→

$$p = \underline{\hspace{2cm}}$$

Solve by backtracking

$$5c - g = 2h$$

→

→

←

←

$$c = \underline{\hspace{2cm}}$$

Solve by backtracking

$$3c + 2g = 3f$$

→

→

←

←

$$g = \underline{\hspace{2cm}}$$